Efficiency vs. dz (PV) [ Etficiency (tracking eff factorized out) vs. dz (PV)

= 1.2
(4]
................................ x
R R st D5 =
X
..... 2 : N N .
Z 0.8 - [EEREEEEEEEEE AR [
................ c . . . .
o : : . :
------------------------------ £ 0.6Ff--- :
w . . . .
________________________________ 0.4
""""""""""""""""""" 0.2
o+
T
14
0.9%) . . .
01 02 03 04 05 0.6 01 02 03 04 05 06
Cut on dz(PV) (cm) Cut on dz(PV) (cm)

—=— DQM_CKF-test_1000evt
—— DQM_CKFREFit-test_1000evt
—— DQM_mkFitREFit-test_1000evt
—— DQM_NANTEST_1000evt




	Contents
	Page 1


